ASSEMBLY INSTRUCTIONS

ITEM NO :TS-TA-4085G-CYB-C
RECTANGULAR GATHERING HEIGHT EXTENSION TABLE

1/1

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts, which may have come loose inside the carton during shipment. Identify and count all parts and

compare with the parts List below.

Note:To be removed

@efore use
v

Do not tighten screws until completely assembled.
Made in Vietham

Adjust leveler
when necessary

HARDWARE & PARTS LIST

NO.| Drawing | DESCRIPTION QTY
A @ Table Top 1PC
B @ Wood Shelf 1PC
c| L& |Less 4PCS
o | [ ] |[cLeaf 1PC
E % Side stretcher 2PCS
Fl g 5/16" x 2" Allen Head Bolt ~ [24PCS
G ~ 5/16" x 3/4 " Allen Head Bolt |[4PCS
H @ 5/16" Flat Washer 28PCS
1 G 5/16" Spring washer 28PCS
J % 5mm Allen Wrench 1 PC




